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1 Temporal Hours

The method of measuring time using temporal hours involves dividing the period of time
from sunrise to sunset into twelve equal parts. Each part is one temporal hour. Suppose that
classes were scheduled for one temporal hour each. We can determine how long each class
will last on various days in Grand Junction.

a) On September 25 sunrise will be at 7:05am and sunset at 7:05pm. How long would one
temporal hour be on that day?

b) On December 4 sunrise will be at 7:17am and sunset at 4:51pm. How long would one
temporal hour be on that day?

¢) On May 14 sunrise will be at 6:0lam and sunset at 8:19pm. How long would one
temporal hour be on that day?

d) If classes were scheduled in this way do you think that you would find the Fall semester
or the Spring semester easier to manage?
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